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2.5 SAMA(EFH) 24,000 0 24,000
A1 2] 7] =) A L8] [}
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AP 132)8=4 34 An
(O l:lX 1T \..»O (e} L7070 ] 22,787,000
22,787,000 13]=
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Az 1324 Ay 9]
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18] Rl = el S o
(ﬂo_,jxj__Hu?uTJ : 35,000,000 %1 35,000,000
A3 1= AulE R
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(AEA_13)2vETV 3,750,000 2= 7,500,000
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2] Z] =) A LAn] o]
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3. H]EF9H] 9,200 0 9,200| (A FA_13) o] £} 1 300,000 #87= 2,400,000
(A1) e el E & 1,400,0009#271= 2,800,000
(ARFA_1:)ANZd 5 7EEFE 2,000,000
250,0009) #8%=
Al 13)esk : 91 A
EEO_?./J A_13)S387]7] ¢ 2,000,000 *1A4] 2,000,000
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1.8m7)1 3% &9 18,624 17,148 1,476
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1. 4Rk 3] 1,709 1,709 0| o&gha7+ 1 20,0009 2% 53] = 200,000
AP (20,000 #2F 53] )= -200,000
2. A AFY PN 3,000 3,000 0
2. 9429 13,395 11,919 1,476
1. 9RkG=8-] 4,475 4,439 36| HFETER 1 12,0009#3F 1A= 36,000
27T T 180 180 0
3.09m 8,640 7,200 1,440 | B el & Foln] : 10,0009*127 %129 = 1,440,000
4. 4N} Fx0] 100 100 0
3. Eq 520 520 0
1. gRrg - 321H] 520 520 0
2.4 ] fA 55,902 47,128 8,774
1.3 Al ] f A 55,902 47,128 8,774
1.3 F o FLAAEIF 14,496 12,096 2,400
LA 8w 9,000 6,600 2,400| A7) 25 : 400,0009 6= 2,400,000
2. 48 RE 360 360 0
37T aT 5,136 5,136 0
2.98H| 1,319 719 600
1.¢180] 1,319 719 600 | HEE5f 79 1 600,0009013]= 600,000
3 AT LS 5,904 5,904 0
1. G981 5,904 5,904 0
4. A4 g RktE 6,532 5,482 1,050
1. g ukgn) 6,532 5,482 1,050 Al &4 7F B4A1H] ¢ 500,000 #23]= 1,000,000
AAFYHL7] A2 0 50,0009%13]= 50,000
5. 34 ¢ 2,700 2,700 0
1. dRkpEgn) 2,700 2,700 0
6. A1 T A7) 349 349 0
1. 3547 149 149 0
PRmEARIRE ) 200 200 0
AnA 20239 0649 23 094] 558 50% 10 AgEewgy npeEsta




20238 A &= A = o AL Al A
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'fl_i}%l WAFIR AT 1+ 100,0009%17 2 200,000
v gkl A7l ¢ 300,000 18] 1= 300,000
o mEE B Ay 1,000 550 450 fli}% REFE A W] 1 100,000+ 11 100,000
v skd AZAN 350,000« 1+13]= 350,000
RRmEA KR A E) 200 200 0
471 EAE AT 960 960 0
8. WA AN (HH) 3,461 0 3,461
1. dnkpgn) 3,461 0 3,461 | WA A FA T H] ¢ 3,461,0009+13]= 3,461,000
3 A4 2,855 2,855 0
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